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V  EVIRRERBR
(1) RZRK (ER28FE)

( /mL)
B &= ] 0 0 0 0 0 4 0 2.1 0 0 0 0
Oscillatoria tenuis 0.1
Anabaena  spp. 4 2
= o b 674 140 116 50 356 38 24 152 68 18 176 304
Achnanthes spp. 2 16
Amphora  spp. 4
Asterionella spp. 24 6 2 2 54 124
Aulacoseria spp. 2 8 2 4
Cocconeis spp. 4 10 2 4 2 2
Cyclotella spp. 38 2 18 100 8 4 4 10
Cymbella spp. 36 14 2 2 2 10 14 28 36
Diatoma spp. 14
Diploneis spp. 2
Fragilaria spp. 12 2
Gomphonema  spp. 10 2 4 4 6 2 10 10 10
Gyrosigma spp. 2
Melosira  spp. 2 18 2 2 2 4 2 8 2
Navicula spp. 482 84 48 16 248 12 8 96 36 6 44 58
Nitzschia acicularis 58
Nitzschia spp. 2 2 4 10 20 10 4 4
Pinnularia spp. 14 14 2 4 10 48
Rhoicosphenia spp. 2 8 8
Surirella spp. 2
Synedra acus 2 2 2
Synedra ulna 2 2
Tabellaria spp. 6 2
% E ] 30 6 6 2 78 20 10 6 6 4 26 76
Ankistrodesmus spp. 8 34 2 2
Chlamydomonas spp. 6 2 4 4
Chlorogonium spp. 2
Coelastrum spp. 4 2
Cosmarium spp. 2
Crucigenia spp. 2 2
Eudorina spp. 2
Golenkinia spp. 2
Micractinium spp. 4
Mougeotia spp. 12 70
Oocystis spp. 2
Pediastrum spp. 2
Pleodorina spp. 2
Scenedesmus  spp. 16 4 2 32 2 4 4 2 2 2
Selenastrum spp. 6
Sphaerocystis spp. 2 2 2
Staurastrum spp. 2
Tetraspora spp. 2 4 2 2 4
)T ES 6 0 0 0 4 0 2 0 0 0 0 2
|Cryptomonas  spp. 6 4 2 2
% T = 0 2 0 0 0 0 0 0
A B = 0 0 2 0 0 0 0 0
iR B = 0 0 0 0 0 0 0 0
& Y| fa # 710 148 124 52 438 64 36| 160.1 74 22 202 382
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(ERN28FE)

(

/mL)
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